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РТ № 1.1

2012 + 2 = 2014

6,55 – 3,5 = 3,5 – 6,55 =3,05 – 3,05 

– 4 



РТ № 1.4

b + а
b ∙ а
а + (b + c)
а ∙ (b ∙ c)

а ∙ c + b ∙ c



РТ № 1.5

1)  2,62 + 5,34 + 6,38 – 2,34 = 9 + 3 = 12
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– 4 ∙ 14

4) 25 ∙ 32 ∙ 0,04 = 1 ∙ 32 = 32
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РТ № 1.5

3 4

2)  4,57 + 3,41 – 2,57 + 6,59 = 2 + 10 = 12

2

4) 8 ∙ (– 17) ∙ 0,125 = 1 ∙ (– 17) = – 17 



РТ № 1.5
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РТ № 1.6

1

22 = 4
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К л а с с н а я    р а б о т а.

Числовые выражения. 



№ 1.10 Запишите числовое выражение и 
найдите его значение:



№ 1.11 Запишите числовое выражение и 
найдите его значение:

13

4

2

2



Найдите значение выражения:

Не имеет 
смысла



У:  стр. 6 – 9  § 1

З: § 1 № 10(в,г); 12;

                  40(в,г);  46.


